BORILLA oPORTS

MANUAL FOR PRESS BENCH

(10000118)




Washer: (¢10)

©

—

PUORILLA oPORTS

Nut : (M10)
/N
N

10x

Bolt: (M10%75)

| S—

- Bolt: (M10%67)

mmmmmmmm

Washer: (#8)

©

mmmmmmmmmmmm

1x

_— 10x

Bolt: (M10%65)

Bolt: (M8*50)

Bolt: (M8*65)

B

@iiiiii@ii:InSide PAN-HEAN Bolt: (#10%65)
4x

wwwwwwww




PGORILLA oPORTS

90-111

78-99

Unit weight: 30 KG
Dimensions complete: 125 cm x 57 cm x 78-99 cm
Maximum loading: 200KG




H - 7
Inside PAN-HEAN Bolt (¢10%65)—-2PCS
] ] , . i
T | |
] 7 i — Bolt (M10%67)~4PCS _/,/,J °
ﬁv ] 0
Insijge PAN- 0 ? 0 / W V .
Bolt. @S%MWM% | 0 A v | |
) 7 N | , 0
0
, - Nut (M10) -4PCS — 0
| u Washer (¢10) -8PCS ut (M10) H#wl [L |
| 4 _
f,L JV, Inside §®z
Boj ~HEAN




2 | f
! Bolt (M10%67)—-4PCS
/N
<@>
N/

Washer (¢10) -8PCS Nut (M10) —4PCS

\i.\\\\\\\\




‘\‘\\\H‘ |
Bolt (M10%65) lPCS

‘N
\
¢‘ii:ii»
"/

Washer (¢10) -4PCS Nut (M10) —2PCS

O

@side PAN-HEAN Bolt (¢10%65)-1PCS




i
B
S
4

o
@)1

(8

84

d

0

S

-

d
[O
1
Gx8IN)

0

'[_

d

@)

S

B

q
IO
gl
9%8IN)

(S

84

d

9]

S




-
GPR:£;

J\l

SOdZ—(01@) IoYsejp

SOdZ—(L9*+0TI) 3109




O

Inside PAN-HEAN Bolt (#10%65)-1PCS

Inside PAN-HEAN

Bolt: (#10%65)

[

—

~~

e PULL OUT N




	10000118说明书 1
	10000118说明书2
	10000118说明书3
	10000118说明书 Model (1)1
	10000118说明书 Model3
	10000118说明书 Model 31
	10000118说明书 Model (1)4
	10000118说明书 Model (1)5
	10000118说明书 Model 6

